_The most important grain crops are grown in Africa (we can exploit them in industry)
Temperatures can reach 54 degrees Celsius on the hottest days (we can exploit it in solar energy and thus provide electricity for factories that will be built in a non-polluting way).
Africa has fisheries in all its sea coasts as well as inland(Africa’s extensive inland fisheries contain more than 3,000 species of Fish and account for two-thirds of the world’s inland fish production).
_africa is characterized by a dense forest land cover and high-quality wood such as mahogany and okumi is exported to many large countries(we can exploit those high-quality wood instead of exporting it all raw)
_africa is a major exporter of important minerals: on top of them are gold and diamonds; minerals exported by African countries include uranium (nuclear energy production), platinum (jewelry industry), nickel (stainless steel), magnets, coins,rechargeable batteries; bauxite (aluminum ore)and cobalt
So why not exploit those minerals in Africa instead of exporting them raw؟
